505

ASSLGNMaVT 33

Hey
W= (100D L
= (1209 =20%15
- $220

S= C+L +[9

- 399 + 0u5(3.20)+ O,/zo(s go)

i

G512

#4

a) Y= (1-4)-d-)
—(1-yoo)-257%) 55
= $34.75

e o« G145 24 75

markvp 29,76

= 1207%

#10
) gz cast
e - ¢+ OHC
A L |
$5325 = C

# [l
5= C+M
S - 2.6 + 0 068

0Ys = 12.80
S= §32.00

50 = 24 v BO(EDF

b) rafe of _ sy 45 -aA76

mor kuﬁ

5145
= 54,55 7

b) rate of . 74555325
| V"ﬂ/ﬂlf./(ij/] 7L?’L 6‘/; .
b) rateot _ 3200-/2.50 |
erka/f; - - 70
= 509,



6h 4

#a) | bh)  Sale /r//l'a - (1-40%) B0
<z +E+P = 18
S o+ 05+ OIS
s =380

¢ Total cocl = 44 + 0375
| 99 + 0,27040)

656

\l

Frotit = Q.Lg priee - Todal 25T
= dr-65b

=174
O/fff/&%awd/(, (045

#0 fﬂéf’/, o = 1299-935  _ 28 %

mar kdoun 1299
#l0a)
S = c+EXF ) Taal st 7 CTE |
e . er o OTE  2000.68 + 03D &)
C = $9\60@g@€ : | = ggb{gérg%
() rabe ot - 68%- 2406.89
markplawﬁ ' ‘ 2299 | = H5 G/z)
655
20 = (gl =+ M
_ (- 3u% )~ 20%)1-5 %) el S zcr06F
=§22.80 s 21280 * 0,65
' QHS = 2/‘2.90 )
S :3’531100

_ (vzz'oﬂl;') 53) = ¥ 292.60



) ey = ARUO-FAL = 57507
R, ¢0

#0) = u-d)- A
= (1- 57N 1-4%) 630

= $372.00
mark dawn = Egg“%‘?l»,‘{? . 57
558 |
L) Markug = M . 3%,
| 55¢ |

c) Profi't = saleprice _ Tola w;; )
. ymus - (37200 -_+d,/5(b§é’))

- §-03.25

d) /ﬂﬂwk}/]o: 555{ ~-372 - g07
| 372

) )y - (1-d.) -
- {14090 - 16472 ) 21

= $13.00
<z C+F+ P
¢ = 12T oat (12) + 0, 7(/2)
s = 17
b) (ﬂfwﬁ (,09(7 = [>T 0.25(13)

55
Vlflaw kdown, = 17 4 EZLf

be of
O ek 4 = A7,
)%



*
93

&7

= sale ¢ riee

M= 0-dJ)lL S = c+ ETF
= (1-25%)26" S = 1%+ /M
= 0.75(26%) S = 192+03
= $19¢ a6s = 19¢
| S 29700

\’ﬁw Ffé\ju leor "»QH Q {?iwi
163 .00 = (l-0.2)%
R= 2a%. 00 _ ¢ 9%+1.25

s it

t’ﬁ%’

|

g2 1-Frt B
695 (0 0@;21;) 175) $7&,§§.
gd T
| -{1325175(0049)( ) $60W
- 2577
#e T mta o) 4
Oy I=Ft L
£l vlm(ﬁwg )= ¢ R67

k — 2 .,0,0} - %3 f—. 5/
_ 1000 (0. 07 7(;@_),) 5

%ZQ\ | 3%/ f | -3
-1 - 2zt _ b2316.6%
O)# 0 Pre = p e ’

T



¥¢ - I - 2274 <870

PR

e M0 @%

#/(3 t- L /;‘1?\;', 22 diys

e -

P*V (200 (0 /é%)

2 e g L 3
7900/ )
573
Bj#¥2  S- pl1+rt) = 800 (1+0. om( ) ‘
-§ 812,66
#Y Sz Plitrt) = 80 (1 + 00857 (}fé’))
| =9885 500 |
(oo Plird) 7 17200 1 0.0195 [ 150.)
b 4 Pl+r ) » Z/ - 5 (Bég)>
= 31733077

g g= Plrt)= #0@0@(#0.02%(%5))
=§40 ¢37. 11



C74 b) ‘
#2 p= _S _ U5 - =paze oo
[ +rt /+w%( %> "
wy oo & o 70803 o $700.00
4y Pz 5= s
vt '“LO'%(%@O%)

#o P=_S5 _ _ 50 = $/548.90
AT |

w9 P = ¢ L o000 2§ 9757+
e ’*0‘0%(%-)

G758
1 7 | 500
~ L "0 .
+od months b onth
Uwi ;;Zk} & Y 4
| | : 0
‘Pﬂ Vme.nf - __,_,_Z_ﬂ_a/' + ,__8—0«—*?""
Tzﬁy l +5-(733%) o(g)
§1463, 71
H# Y 32-0, v Vo0 X
7 days Tod oy 45' Aa7g ‘:,'Jg days

meat _ - | 09 [ L6t iy ) { 09 34
faygmeat ;10@(/4—00?(%))1/Wo(ww/(%g))
n 790‘&79 ’

= Hles. 36



-:ﬁb-éﬁw@ di500 | $7&’0
L -, ,,L\/

Gwenth lmgnth ”Aﬂy - Zmonlh

W/}Mmf 1200 (H, 0,0%(3;)) f ,»150@'(/7» 0‘0%%)) |

)afdcty | \12
+ jgﬁ,,_ .
00 9’)

_ 3459, @/O |

#& - | |

bMB0 g0 qweo

“0days 63dags ‘Tmli?‘  gqdayS -
o | 7_‘ T faca[yo]ad?i |

WW M‘?D@Z?)) T MO( i ; (3@5) -

.“—’ 9@00( 7—6704’3( >> —,L /%ZW//LEM£

Pay‘ww*: < $5'3‘7;z}{g



H#10

2700 o '
C X |
%&7? l??days

I

.  1 + @.0?25(%%%) -

14—@,0?’25 (}Zf)__ =

0. 9770035 X + O, o 11943%

220 < 0
2300 = 1.9449G19897x
supars . x
7T
AV m= 2 |
2 g
V)~ ;28 1o
| H
o 4 (’55_); 253
#0 M=% |

N = 11(/@ 7)

AR 575 %
2
U%(O



7 A
b

g
' $= F(lﬂ) 5@(/+ %‘L}%)

.o
Hy ; "J/?ﬂé
5342

v

#Ga) 5':/0(/+f2)”
= 500 1+ ¢.07)
$717,€1

<) SS@(?U( abu{ﬂ;)

8724 %7

Q S= Plet)”

“WOO//+0055)
%}%55,27 |

'L{S’.

Q#l $= QMU(/%VOL/é_)

mw 62

.s ;gméz(/w/b)

$5o@ %%‘

§ 5000
1 -

| : A¢
- 5o (1+ 0,02)
94 721,55

b) 5= 900(/+0,&75)
$7;; 52

0‘7 §~ bd&’( +@074)

5(77.16 65

[’l/u]’?a %4;1'/ é%‘l—:

0 iswonths “horth

28 ot

é@ prly G/h%



ﬁﬁkﬁfiﬁé,;@ﬁwé@g;
| | (z)
Ralense = 12 o0d (1+ 2 ._J-)

= $‘70/0 70

- 5000

(d@myi ot //d%res’(f m’fe} o
:L(T‘i,;) o

ﬁg_(,b:bmfﬁ a/é 24 Mamﬂre‘j

Palance = W?&%'( [+ 00()
: o S
-$95%70.70

B&L@Wﬁ a,Z,L 2}0 W‘ZO’Mt/’M |

- Palance =

= ?LOZO%/(ML@/Z) J«-H‘O@O'
o A6120.93 | s
P)@L@"’”f‘f A éﬁ il o

Bwhfua.-é/ﬁ9?5(1+p”;)

_-igssa 9¢
\., vAmazL f”’V”” ew’f

?L” ]2

§9¢35) o
- H4 P - - *beo .
(m) (/w(z) #(4E]

| ff 7;4'5,6_’,/



¥ f- £ - 300 . $a065.55

- -
e

O+i)t liooms)

 Opon b1 20000 + 35 ab

| 1+ y.25%) | |
- 20000 + 30 sl 56 = 7084 5%
ePes B 1S RemER




